H & 0l & AHS B Ml A

20258 20ilaF LekalH M
SA: SH0IED
3. sz ds(2sL2Z/280=)
&el: 230z XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
230l 1,625,533 1,446,787 178,746
Al 6,000
- 1,619,533
2oz ME(SSL2R/Z5H0E) 1,362,080 1,167,062 195,018
Al 6.000
- 1,356,080
S3t0l= XIE A 754,797 608,214 146,583
Al 6,000
T 748,797
FstdlsMY X 82,862 23,264 59,598
201 er23 | 81,362 21,764 59,598
01 At2teltl 81,362 21,764 59,598
ORA&=EFN 224 S4H|
9,000& »200& 1,800
OR4&=2FN 80 &
70,0004 %3004 2,100
SEWEEESREEELEE
200,00024 %5024 10,000
ORMSBET A A
4,000,000& 4,000
ORUZZ=T A SSTEEY
550,000& 550
ORMEZSN A XY S8 P (Le2S
&, 29 8) 5,000:2 x400H 2,000
O=2zi= At XIH AL 28 SA|
9,0003 12 ~2&x 123 2,592
OgAr XtE XI=2tl 58,320,000 58,320
203 =] 1,500 1,500
03 A=A 2= 1,500 1,500
O=3tlilz 22 243t
1,500,000 1,500
OHSEOIZH AL 36,270 31,320 4,950
201 Ler23| 36,270 31,320 4,950
03 A= SHI 36,270 31,320 4,950
O0oliSEOIHAL XIA 500,000& *4H = 2,000
OBHSEOIH AL 34,270
HAHAES 20,000,000& 20,000
- dAMEER 1,000,000 1,000
- AHNEES 2,000 *500H 1,000
- SAFXE ALERZ 200,000 200
- E2E=Y A 70,0003 *300H 2,100
- RS EY 200,000& »40H 8,000
- SETEEY 350,000 350
- NEZ22XA sS4 9,0002 180 1,620




2A: 23t

T 250lE JS(SHUVR/25H0S)

&el: 230z XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g80l =M 57,980 57,860 120

201 er23 | 57,980 57,860 120
03 ALY 57,980 57,860 120
02025 FEUES LS0I=A 57,980
- M ES 46,500,000 46,500
- HEESES 200,000& 50 10,000
- SE87XLEY 400,000 400
- NE22X sS4
9,000 60 »24 1,080
UNE 3t = Al 279,900 277,560 2,340
201 er=23y| 279,900 277,560 2,340
03 A= I 279,900 277,560 2,340
OHMi2r=l UNE 2= K 279,900
- AMHEES 254,800,000 254,800
- HEESEY 200,000 50«2 20,000
- SBTEAEY 750,000 »2 1,500
- ANE22XA S4|
9,000 x 1002 x2 2 24| 3,600
et e & 32,000 25,000 7,000
Al 6,000
- 26,000
201 el 32,000 22,000 10,000
Al 6,000
T 26,000
03 A=Y 32,000 22,000 10,000
o=zt A= & 26,000,000& 26,000
O=2&t = ¢ 248 N (EX)
6,000,000& 6,000
Al 6,000
PELF EgEH N 42,225 57,740 A 15,515
301 EtE N = 42,225 57,740 A15,515
RUstd - 2SES242S 42,225 57,740 ~ 15,515
OZ A=< 27,600
- XX 175,0002 43| 122 8,400
- BI=EX 100,000 43| x 122 4,800
- g4 Edlold
100,0002 *42|x3& * 122 14,400
OZA FotAE=2 (X2 2 49)
575,000& *152 8,625
OF LAl O ASHIAEIE &0}
800,000 800
ORLHEEHM &t 1,200,000& 1,200
OJIEt=2gHI 4,000,000 4,000
A X2 128,985 53,720 75,265




SH: 28051
3. sz ds(2sL2Z/280=)
&el: 230z XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 128,985 53,720 75,265
Ristd - 2SFES2EYE 128,985 53,720 75,265
O A== 27,600
- XX 175,000 *43|x 122 8,400
NS 100,000 43| 12 4,800
- 2%t 100,000 42|12 4,800
- 24 Edold
100,000 43| «2H « 122 9,600
OUA ZDttss 2L (XX 2 43))
575,0002 %152 8,625
Ozt 3,0002+80& 43|~ 123 11,520
ogs +=d & M 6,400,000 6,400
OJIEt2EHI(HAR2Y, #AFN, ALZME
s) 4,000,000& 4,000
OdliAS &M &It 70,840,000 70,840
AEAHEEE ZIIHF3 18,300 17,000 1,300
201 2= 18,300 17,000 1,300
03 A2 I 18,300 17,000 1,300
O&JIH=3] 18,300,000 *13] 18,300
sECgEH N 41,745 57,750 16,006
301 EtE NS 41,745 57,750 216,006
Ristd - 2SFS2EYS 41,745 57,750 /16,005
O A== 27,600
- XX 175,0003 1 *42|« 12 8,400
- BHER 100, 00024 * 124 %43/« 128 4,800
- waE oY
100,000 «3& *43| * 122 14,400
OZAL FotAE =E(XIZIXt 2 49)
575,0002 %152 8,625
OHobte S¢3l 720,000 720
OR A EM &It 800,000& 800
OJIEt=2gHI 4,000,000 4,000
ECYEE HIIAF3 12,215 12,215
201 er23| 12,215 12,215
03 A= SHI 12,215 12,215
O&IIH==3] 12,215,000& x13] 12,215
grElse 2SHF3 22,315 22,315
201 ger=3| 22,315 22,315
03 A= &I 22,315 22,315
Ogsa=3l 22,315,000& x13] 22,315
=22HIBAIE X 607,283 558,848 48,435
Zotated N2 A 11,600 9,600 2,000
201 Ler23 | 10,600 8,600 2,000




2A: 23t
T 250lE NS (SHAVR/25H0S)
Cel: 23IEAIE XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 10,600 8,600 2,000
OAlztA HI} ¢ 60,0002 x60H 3,600
OLE=2s Y2t 5,000,000& 5,000
O3kt A EEZ(80, 28, &
N S) 500,000 *42] 2,000
203 gF=4| 1,000 1,000
03 A=A =] 1,000 1,000
O=2ht He=N 2435t
1,000,000& 1,000
N2 29 - 23 N (M) 234,000 287,000 53,000
307 elzto| & 234,000 287,000 53,000
02 2B YAIHE £ 104,000 133,000 /29,000
O=2zstt=s s g 43,000,000 43,000
OXg 2t At XI2 (XEH)
61,000,000 61,000
03 M EHE2SHIEX 130,000 154,000 A24,000
OXYEstel 2 XI(XHH)
130,000,000 130,000
=hRa S =FAl2e 15,700 10,450 5,250
201 er2 3| 1,700 450 1,250
02 S3=gHl 1,700 0 1,700
OEsHg &llks 100,000 * 12 1,200
OE2NE dotrEes
50,000 +6E 300
OESHY datx 4|
100,000 *23] 200
401 AIEHIX S0HH 14,000 10,000 4,000
01 AlZH| 14,000 10,000 4,000
O2st=4 et 5 FXE=
5,000,000& 5,000
OSSHEY ==AI4 FH
9,000,000& 9,000
SHNEx 5,100 4,900 200
307 elztol & 5,100 4,900 200
02 2B HAIAE & 5,100 4,900 200
OsH 28 & X& 5,100,000& 5,100
Hs===tH =24 156,503 121,348 35,185
101 21A4H| 53,576 50,083 3,493
04 JIZtN2 2N S 2 53,576 50,083 3,493
OIRIM2 224 (FA012) (19) 53,576
-JlZ2s 92,1603 x222 « 12 24,331
- FERLsE 92,1603 522 x1H 4,793
- AXt=E R, 1602+ 172 +1 1,567
- ElXE ¢ 2,632,440 x7Ex1H 18,428




SIEAIE X AR
M- B SRASH) - HRAR - B2 of v A 2
- SAEE 300,000 *1 300
- EY0= 300,000 <231 600
- FoiKzRERLS
31,589,280 *4. 5% 1,422
SRR EE
31,589,280 *3.545% 1,120
=R = 31,589,2802%1.75% 583
- MNEERES 31,589,280 * 1% 316
- RIS EERES
1,119,840 %12.95% 146
201 er23 | 92,317 70,265 22,052
01 At2t2ltl 14,792 12,240 2,552
OR0IZHIAAY B8HE
200,000 * 122 2,400
OAld 28 =5 7l
300,000& * 128 3,600
Os2= s NF 100,000« 12& 1,200
O&=D| el 36,0002 ~12& 432
Oz2)| BRIKY 4248
200,000 x 122 2,400
OAZAIE 2e|lid =8
165,000« 128 1,980
OFIIOHE BRIfs 442
100,000& ~12& 1,200
Ogias S|
9,000&x1E*102]x 122 1,080
OZHI & HAR 225 AY
250,000 2 500
2 S52g4l 37,525 33,025 4,500
OoNIIR3 2,000,000& ~12& 24,000
Odotee=s 300,000 x6& 1,800
O&slx A 255,0002 %12 255
OM=z==x HAHI 260,000 *23] 520
0527 FIAM 242
150,000 %12 150
OAlZ &I Xl 500,000& * 122 6,000
O=F1Y e HAEE s 300,000 300
OFUAIE 32 ot At
4,500,000 +13] 4,500
03 A2 I 40,000 25,000 15,000
OXHl H2018 HAl & 8¢
5,000,000 82l 40,000
401 AlEHIZ S 0HYI 10,000 10,000
01 AlZH| 10,000 10,000
OUsS==23dH =X 2=
10,000,000 10,000




M Zstollsnt
M 2otz S (2L 22/250=)

=aak —%—EJIEU\I’% A& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 610 1,000 A390
01 It =S F = 610 0 610
=& TV wH 610,000 *1CH 610
=Sg 2 4,300 6,500 2,200
201 er2 3| 4,100 6,300 2,200
01 AFR 22| 4,100 6.300 £2,200
OgHALI| £l
110,000& »302 3,300
ORSY 28 = u= Iz HH
10,0002 +80 800
301 EtE NS 200 200
14 IIEt2 83 200 200
ORSY 28 = UF SAE
100,000 x2&H 200
HEESMEH 29 54,340 0 54,340
401 Al HIZ R 0HbI 54,340 0 54,340
01 AlZ8| 54,340 0 54,340
OB52S WESHUE US DA
54,340,000 * 11 2 54,340
LAS AL 2g € 2el 115,740 100,000 16,740
101 @124H| 74,388 73,198 1,190
M ORINZZE2NSE S 74,388 73,198 1,190
OASDtE=E 2els(2Y) 74,388
-Jles R, 1602 222U x 122 48,661
- FaRg=-g R, 1603 x2H »52& 9,585
- AXt= 92,1603 2 * 1204 2,212
- SE=0tl 300,000& x2E *22] 1,200
- SAELIE 300,000 x2&H 600
- 2wz BERSI
30,828,480 x2E *4. 5% 2,775
SRR
30,828,480 2% +3.545% 2,186
- nerazoa
30,828,480 x2& *1.75% 1,079
- MHEERES
30,828,480 x2& * 1% 617
- LoFIRLRES
1,093,000 x2E *12.95% 284
- ElX= ¢ 2,594,050 x2&H 5,189
201 fer23y| 31,352 26,802 4,550
01 AtR2t2|HI 9,752 8,630 1,122
OSIZHIANAHE 2
110,000~ 128 1,320
O&=D| 2el 36,0002« 12 432
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SM: 28051
3 F00] ASs AN (SEXNSNL/RALEAl)
=@l SSONUEH (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SUBHECDIX AIHAI 36,500 2,000 34,500
201 er23 | 36,500 2,000 34,500
01 At2teltl 36,500 2,000 34,500
SLIBE CIXRD AIHANY 36,500
- 878 RUHZLIAR! JI01=etel i
20,000,000 20,000
- SSEA Z Ol
5,000,000 *37H 2= 15,000
- U AS NS R
1,500,000 1,500
SSXEE S RA& 8,340 8,340
201 er2 3| 2,340 2,340
01 AtR2t2|HI 540 540
ORdz F&HIIEE Jt=2J] #
30,000 *18IH*12] 540
2 352484l 1,800 0 1,800
ORdzZ FHI|IEE 2XH M=
150,000& « 12& 1,800
401 Al HIZ S 0HbI 6,000 6.000
01 Al&H| 6,000 6,000
O33x8= »AE=x 6,000,000& 6,000
ZEOIEME sX2tel 18,120 13,120 5,000
201 etz 3| 8,600 3,600 5,000
01 AtR2t2|H] 5,000 0 5,000
OEZ&S0IEHH &AM S22 HH
5,000,000 5,000
2 352484l 3,600 3,600 0
OZs0tEHE 3323
200,000 * 122 2,400
OAld = Al2eltl 100,000& * 122 1,200
301 Eet2 NS 9,520 9,520
14 0Bt 2as 9,520 9,520
OFdIOIE &bl=2a
80,0002 x 1119 9,520
A2 3HI(2a0=1) (O1EHIIE 127,073 228,405 101,332
QI 2HHI(23t0=1) 88,553 176,709 188,156
I 2HH|(23t0=1) 88,553 176,709 A\88,156
101 21A4H| 84,130 172,388 A\88,258
02 JIEtAE = 44,726 133,946 N89,220
ORUZ=(AIZHE=AIIMOIE)(1F) 44,726
-3 2,311,250 128 27,735
- s 100,000& ~12& 1,200
- Ag2XH| 175,000 +87 . 5% 123 1,838
- A3 AHI 140,000& 122 1,680
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A 230=Dt
M HHRHHHI(23H0I=D) (OIEHDIE})
S2: J|=2ZHI(25 0= ) (St &)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
202 Ot 20,160 28,560 A8,400
01 =WHO4bI 20,160 28,560 A8,400
OJ1282 =8 SFH0HYI
20,0003 * 12 *143] 122 x50% 20,160
203 YR =&H| 3,000 3,600 A600
M FA2HHRFAH 3,000 3,600 AB00
ORN2ILRFAI
250,000& =123 3,000




